EdPsych/Psych/Stat 587
C.J. Anderson
Homework # 2
Answer Key

1. The linear mixed model that corresponds to the HLM on page 65 (of random
intercept notes):

(math)i; = 700 +701(SES); + 710(SES;; — SES;)
+790(female);; + v3o(minority);; + Uy; + Rij

and
o Rij ~ N(O,O'Q) 1.1.d.
° U()j ~ N(O, 7'02) 1.1.d.
e ?;; and Uy; independent
2. The corresponding marginal model:
(math);; ~ N(u;;, var(math;;)) i.i.d.

where

uij = Yoo + ")/01(8 S)] + ’}/10<SESij — SES]) + vgo(female)ij + Y30 (minority)ij

and
var(math,;) = 0% + 7



